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Answers can be in the form of 1/k n L J C!,bulnotin H'.

Problems 1,2: H#AELENBBHML 3~6" HENERKL M?ﬁ%!ﬁﬁﬁﬂi@ﬁ') WA For st e

L. True or false. I false, explain why. (4 pts each, 40 pts total)

_ (@  Vy3x(x>y) (considerx,y to be real numbers)

___(b) I the truth value for “p— g~ is true then the truth value of \q—> p” must be false.

(&) {ah{{a, {a}}, aba} = {g . {¢ }.{e {4 }}}

(&) Foranysetd,|A- A | <14}

_ (e) ToranysetA, ADY =d-¢.

(D Foranysetd,|Ad-¢|=|¢ -4l

__(g) Foranysetd, B,C,itdc BuC, thendc Bordc C.

299 1= -[2991

() Va(aE =190+ 1601 is prime(’E $)) (consider n to be positive integer)

() 1413, then pigs can not {ly.

2. Filling the blanks (38 %) (3 pts each, lolal 18 pts)

4
(a) Compute each of these: Z Z( i+2j) = . rl 2n-1) =
=l j=0 n=2
(b) ged(0, 100) = ,lem(0,200) =" (ged ADSBE R lem & 215 8K)
(¢) The value ol the arithmetic expression whose prefix representationis“~- 9 / + 6 2 - 5 3”is .
@ CIS +C'5 ClS . Cllss -

3. Consider functions f from set A={1, 2,3, ...,10} to set B ={a,b,c,d} (12 pts)

(a) How many tunctions are one to one? (b) How many functions are onto?

4. Define a relation R on {2,3,5,6,9, 10, 12, 14, 18, 30} such that aRb means afb . Show it is a poset and sketch the Hasse diagram.
(745 pts)

5. How many nonuegative integer solutions are there to the equation  x) + Xz + X3 + X4 + %5 = 21 suchthat x;227 (10 pts)

6. Show that L-14+2-2143 -3+ -+ p-nl=(n+DI=-1 forn=1,2,3,....(8pls)
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